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BX-B
 fit

X   (gauss)

Residuals for File fit0006

Entries
Mean
RMS
UDFLW
OVFLW

          51491
-0.2692E-01

  18.18
  4083.
  4083.

16/03/23   11.45

BY-B
 fit

Y   (gauss)

Entries
Mean
RMS
UDFLW
OVFLW

          51491
-0.8679
  26.19
  7390.
  7589.

BZ-B
 fit

Z   (gauss)

Entries
Mean
RMS
UDFLW
OVFLW

          51491
 0.3828E-02

  19.34
  3085.
  3085.
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BX-B
 fit

X   on horizontal midplane (gauss)

Residuals for File fit0006

Entries
Mean
RMS
UDFLW
OVFLW

           4681
-0.5057E-01
 0.8627E-01

  0.000
  0.000
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BY-B
 fit

Y   on horizontal midplane (gauss)

Entries
Mean
RMS
UDFLW
OVFLW

           4681
 0.6372
  5.861
  1800.
  1853.

BZ-B
 fit

Z   on horizontal midplane (gauss)

Entries
Mean
RMS
UDFLW
OVFLW

           4681
 0.8760E-03
 0.1000E+00
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(BX-B
 fit

X)/BX   on horizontal midplane (%)

Residuals for File fit0006

Entries
Mean
RMS
UDFLW
OVFLW

              0
  0.000
  0.000
  0.000
  0.000
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(BY-B
 fit

Y)/BY   on horizontal midplane (%)

Entries
Mean
RMS
UDFLW
OVFLW

           4679
-0.4905E-01

  4.069
  606.0
  634.0

(BZ-B
 fit

Z)/BZ   on horizontal midplane (%)

Entries
Mean
RMS
UDFLW
OVFLW

              0
  0.000
  0.000
  0.000
  0.000
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